T_bes (K)

270.6

270.4

270.2

270.0

269.8

269.6

269.4

T_bcs vs Collect

Collect

10

15



87.5

87.0

86.0

85.5

T_svs vs Collect

Collect

10

15



T_bes (K)

T_bcs vs Time

270.6

270.4 — —

270.2 — —

270.0 — —

269.8 — —

269.6 — —

Nmm<§. | 7 7 | 7 | 7 | |

-30 0] 30 100 150 200
Time (min)




T_svs vs Time

87.5

87.0 —

86.0 —

85.5

-30

30
Time (min)

100

150

200



T_tmc (K)

293.8

293.6

293.4

293.2

293.0

292.8

292.6

T_tmc vs Collect

Collect

10

15



T_tmc (K)

T_tmc vs Time

293.8

293.6 —

293.4 —

293.2 —

293.0 —

292.8—

292.6

-30

30
Time (min)

100

150

200



T_rta (K)

248.2

248.0

247.8

247.6

247 .4

247.2

247.0

T_rta vs Scan and Collect

500

1000
Collect*scan

1500

2000



T_cav (K)

2442

2440

243.8

243.6

243.4

243.2

243.0

T_cav vs Scan and Collect

500

1000
Collect*scan

1500

2000



T_sh vs Scan and Collect

241.4

2412 — ]

241,01 ]

240.4 — —

240.2 — |

240.0 | | |

0 500 1000 1500 2000
Collect*scan




T_ham (K)

257.8

257.6

257.4

257.2

257.0

256.8

256.6

256.4

T_ham vs Scan and Collect

500

1000
Collect*scan

1500

2000



T_obc (K)

293.2

293.0

292.8

292.6

292.4

292.2

292.0

T_obc vs Scan and Collect

500 1000
Collect*scan

1500

2000



T_rta (K)

T_rta vs Time

248.2[

248.0 —

247.8 —

247.6 —

2474 —

247.2 —

23 11

100

Time (min)

400



T_cav (K)

T_cav vs Time

2442

2440 —

2438 —

243.6 —

2434 —

243.2 —

23 11

100
Time (min)

400



T_sh (K)

T_sh vs Time

2414

241.2 —

2410 —

240.8 —

240.6 —

240.4 —

240.2 —

100
Time (min)



T_ham (K)

T_ham vs Time

257.8[

257.6 —

257.4 —

2357.2 —

257.0—

256.8 —

256.6 —

100

Time (min)



T_obc (K)

T_obc vs Time

293.2[

293.0—

292.8 —

292.6 —

292.4 —

292.2 —

. M

X QA

100

Time (min)

400



247,65

Trto (K)

24745

247,65

241.60

Trlo (K)

24755
24750.

242.66
247.64 |
2762
£ uﬁ.aaw
w »5.8H
24756
247.54
24782

Collect=1

Collect=4

130

247,64

247.62
247.60

L ond
£ 24738

3 24756}

247.54

247.52

247500

242.70[

Collect=2

T_rta vs Scan

Trlo (K)

Collect=3

N&N‘hﬂ 1 . L L ]
%0 100 150
Scon
Collect=6
247,65 ———
ur60- XX XX X 1
BRSO SIS
KOS NI I X MK MK X
247,55 - ]
24750 , . ,
[ 50 100 150
Scon
Collect=9
242,70( ———
24765 ]
247,50 , L ,
[ 50 100 150



3 2 %
o8 8 &8
g i
’ g
|12
in
f 13
8, -
g‘
0% T %
o8 8 &8
7 —]
L
b —
Al o a
I o <
2
3 1)}
mwwm
;| C 8
8, - )
g‘
Trto (K)
£ o 8 8 E B E
g
’ g
2
]
, N
8, -
EH




24365

243.65

243.60

T_coy (K)

24355

24350

243.66[

243.64

243.62

£ 24560/

§ 20550

-

24356

243.54

243.52(

o 30

Collect=1

++ﬂ..... +.+..+.

TII..___._._.:._M_.TI._* +HHHH+

100
Scon

130

Collect=4

100

Collect=7

130

100

Tcov (K)

243,70

243.65

24355

T_cav vs Scan

Collect=2

Tcov (K)

100

Collect=5

T_coy (K)

100

3647

24354

24352

24350
243481

243.65

243.60

24355

24350

243,70

Collect=3

130

100

130



> > > §
£k 8 B 3
s, i

’ 2

12
1

f 13
87 -
g‘

Tcov (K)
> E > >
&
i §F § BB
s, i
’ 2
12
[
§, J
g‘
T_cov (K)

: 8 g
o8 o 8 8
s,

’ g

3
]

f N
87 -
E‘

UDOS SA ADO—|



Collect=1
240707 A
240.65 - 4 A l
- IH- H o+ R HHE
£ it T HE T
5 BB R e T T T
[ L + +
240,60 - B
240,55 L .
(] 100 150
Scon
Collect=4
240,75 B
£
240.70 B
8
240,65 B
240,60 L .
(] 100 150
Scon
Collect=7
20.78 AR
240,76 - b
240,74 - i
T 072", 1
..w 240.70 b
240.68 - b
240.66 - 7
240,64 [ T ]
(] 100 150
Scon

24055
240,80
24075
X
240.70 -
80
240,68
X
§

T_sh vs Scan

Collect=2

Collect=5

130

240.80

240.80(

240.75

240.65

240.60

240,787
240.76 |

240,74

£ 24072}

k] 240,70

240.68

240.66

24064 L

Collect=3

130

130

130



T_sh (k)

240.75

Collect=10

T_sh (k)

240,78
24076
240.74 :
24072 =
240,70

T_sh vs Scan

Collect=11

T_sh (K)

R

|ucH

Collect=12




257.14

25712

257,10
X 257,08 4
m 257.06
-

257.04

257.02

257,00

0

.3,

130

257,14

25712

257,10

257,08

257,06

T_hom (K)

257.04

257.02

257,00

0

130

25718
23716

257.14

25712

257,10

T_hom (K)

257.08

257.06

257,04

0

130

T.hom (K)

T.hom (K)

T_hom (K)

T_ham vs Scan

,no_,_mn-ln

257,12

23710

257,08

257.06

257,04

2572.02

257.00
0

g

257,14

25712

257,10

257.08

257,06

257,04

257,02
0

g

25718

23716

25714

257.12)
252,10

257.08

257.06
0

g

,no_,_on-lu

25712
25710

257,08
257,08

257,04

T.hom (K)

257.02

257.00

2%98 . . . . . . .

o 30 .8,

g

23716

257,14

257,12

257.10

257,08

T.hom (K)

257.06

257.04

25020 . . . . . .

o 50 .8,

g

257,20
23718

257.16

25714

‘\H‘H“H\

257,12

T_hom (K)

257.10

257,08

25060 . . . . . . .

o 50 .8,

g



257,22
257,20
25718

€
£ 257,16

m 257,14 ¥
o

257.12

25710

257,08

Collect=10

o b b b b e
T.hom (K)

T_ham vs Scan

Collect=11

257,22

257,20

25718

25716

25714

25712

25710

(]

T_hom (K)

Collect=12

T

g ¥ 8




T_obc vs Scan

Collect=1 Collect=2 Collect=3
292.60] — 29262 — 29262 —
2238 4  Basor 1 29260f
. ] 29258 - 7 .
292.56 - b [ ] 29258 -
£ [ i 1 E i
29254
w [ ] g .m [
29232 1 i ] 29234 -
r ] 292,52 b r
22480 . . . . 0] 202480 . . . ] 22%0 . . . . . . .
[} 50 100 130 [ 50 100 130 [ 50 100
Scon Scon Scon
Collect=4 Collect=5 Collect=6
292.62] — 29262 — 29262 —
292.60 . 292.60 . 292.60
29258 1 29258 1
< [ I [ ]
m»o»haw . m»o»ha .
- [ I [ i
29254 - ] 29254 - ]
29252 . 29252 . 29252
292%00 . . . . . ] 22%0 . . . . . . ] 2280 . . . . ..
[} 50 100 130 [ 30 100 130 [ 0 100
Scon Scon Scon
Collect=7 Collect=8 Collect=9
292.62] — 29262 — 29262 —
292.60 . 292.60 . 292.60
29258 .
g i ]
m»»u.uo‘ 1
- [ i
29254 - ] r
20252 . 20252 . 290252
292%00 . . . . . ] 22%0 . . . . . . ] 2280 . . . . ..
[} 0 100 130 [ 30 100 130 [ 50 100



Collect=10

T_obc vs Scan

Collect=11

292.62(

T-obc (K)

Collect=12




T_obc (K)

T_obc (K)

T_OBC per thermistors vs Scan

oo__moﬁ =1
292.555 m P
292.550 _ _‘_A__,__.__ L _____z,# )
|
292.545 i#) ,,u._”

292.540 mh

150

W .
292.535 m.fm —; .‘__ A A
13 _ §
NON muo “_ \\//\P(\b/ k«—\— \m/ | K% H
292.525 ,
0 50
Scan
Collect=3
292.570 , , H
292.565 .
292.560 |! ]
292.555 o A ;
J_-\_;I;_Qi,\_,_ ;
292,545 :
292.540 ]
0 50 100
Scan
+ 1 X2 03 A4 5 X6

150

T_obc (K)

T_obc (K)

292.60 ,

292.58 - .

292.56

292. m#

292.52

292.64
292.62

292.60
292.58

292.56

292.54

292.52

Collect=2

100
Scan

Collect=4

0 50 150



T_obc (K)

T_obc (K)

T_OBC per thermistors vs Scan

Collect=5

292.570

g 111 I

292.560

oy

______% ___— E__E.

292.553 [

i Wil ___. |
YA

292.550 " ]

292.545 ]
0 50 100 150

Scan
Collect=7

292.575 , | ]

292.570 ,—

.__,._V________,,M,‘_ _,__:__._.____s__, (I

gmx. AT _ﬂ m

_i.\ _; __, \
150

* 2 o3

T_obc (K)

T_obc (K)

Collect=6

____s_____,_-___ i _.___

292.570
292.565

ﬁ g______,__

> X vk,

292.560 |

_

O
\

I

24 <R

I

le

I |
E

d
)

292.555F
292.530 |
292.545
292.540 | |
0 30 100 150
Scan
Collect=8
292.575 , | |
292.570 ]
| — A.V«.,‘_\_
A.e_%_n ]
,1_.,0/ _ =_ _v m
292.555 | \w-_._ Iy |
292.550 | _A_\.._z: ‘
292.545 H
0 30 100 150



T_obc (K)

T_obc (K)

T_OBC per thermistors vs Scan

Collect=9
N@N<mo f T

292.59

292.58

292.57

292,56

292.55
292.54

150

Scan

292.60 [

i‘ -
292.58 ]

292.56

292.54

292.52 | |
0 50

* 2

o3

T_obc (K)

Collect=10
N@N<mm m , ,
292.57 - N
il L el
292.56 § : A g

L]

. _. i
ol R

292.55
292.54 |
0 50 100 150
Scan
Collect=12
300 E———— , H
—~ ~00w ‘
< H ]
(8] L ]
b [ 4
q |
= 100+ ]
o [ | — ]
0 50 100 150

Scan



Standard deviation

OBC thermistor standard deviations vs Collect

0.030

0.025 —

0.020 —

0.015—

0.010 —

0.005 —

Collect

15



VisNIR T_fpa (K)

VisNIR T_fpa vs Scan and Collect

232.8

232.6 — —

232.4 — —

232.2 ‘ —

232.0— —

231.8— ]

231.6 | | |

0 500 1000 1500 2000
Collect*scan




VisNIR T_fpa (K)

VisNIR T_fpa vs Time

232.8[

232.6 —

232.4 —

232.2 —

232.0 —

231.8—

&+ IE

X O A

100

Time (min)

400



ViSNIR T_fpo (K)
B
8

25218}

252,160

2352.28[

VisNIR T_(po (K)
N
[
R

Collect=1

Collect=4

130

130

130

VaNR T_{po (K)
&
]

VisNIR T_fpo (K)
N
[
R

232.18

232,160

Collect=2

Collect=5

130

130

VisNIR T_fpo (K)
B
8

VisNIR T_fpo (K)
N
[
R

130

130

130



232.28(

ViaNIR T_po (K)
N N N N
§ B 8 ¥
S R » B

N
N
&

232,16

Collect=10

VisNIR T_fpa vs Scan

232.28(

25226

VisNIR T_fpo (K)
N N N
8 B B
8 B ¥

N
N
&

232,161

Collect=11

VisNR T_lpo (K)

Collect=12

250

|ucH

150




80.6

80.4

80.2

79.8

79.6

79.4

SMWIR T_cfpa vs Scan and Collect

SMWIR T_cfpa (K)
o
o
o

500

1000
Collect*scan

1500

2000



SMWIR T_cfpa vs Time

m0<m 1T T T 17 T T 1T T T T 17 T T 1T 1T T T 1T T T 1T T T T 1T T T T°77 T T T 1T T T T°77

80.4 — —

80.2 — ]

80.0 — + % O x x o A ]

SMWIR T_cfpa (K)

79.8 — |

79.6 — |

-100 0] 100 200 300 400
Time (min)



Collect=1

SMWIR T_clpo (K)
H%zéﬁ

(-]

Collect=4

SMWIR T_clpo (K)
¢ 8 8 8 E EE

Collect=2

80,04 .
£ s0.02[ .
2 i
3 so.c0 MUNNEEEETG—
| ]

79.96 1

7994 L ]

0 %0 100 130
Scon
Collect=5

80,04 .
£ s0.02[ .
l” L
3 s0.00) .
| ]

79.96 .

79.94( L ]

0 50 100 1%0
Scon
Collect=8

80,06 —

80,04 .
€ 8002 .
'” L
J so.00 TGRS R——
- |

79.96 .

79.94( L ]

0 50 100 1%0
Scon

E E &

3 8
8

SUWIR T_clpo (K)
8

:

SMWIR T_cfpo (K)
¢ 83 88 ¢CE

Collect=3

(-]
g,
g

130



3
8

SUWIR T_clpo (K)

3
kw

SMWIR T_cfpa vs Scan

¢ &

3
: & 8

Collect=10 Collect=11 Collect=12

5 1 80.04 - 1 80,
5 1 Zeo02f- 1 £ 6o
& &
| 5 sooof 1 3w
[ r [ r
‘ I T [
5 1 79.96 - 1 o-

I I . 300&\ I . . . . I . . . L] INQ\ . . . . I . . . . I .

0 50 100 130 0 50 100 130 ) 50 100



LWIR T_cfpa vs Scan and Collect

80.6

80.4 — —

80.2 —

80.0— —

LWIR T_cfpa (K)

79.8— |

79.6 — |

79.4 f f f

0 500 1000 1500 2000
Collect*scan




LWIR T_cfpa vs Time

m0<m 1T T T 17 T T 1T T T T 17 T T 1T 1T T T 1T T T 1T T T T 1T T T T°77 T T T 1T T T T°77

80.4 — —

80.2 — ]

LWIR T_cfpa (K)
o0
o
o
|
|

B + % O x E o A B
79.8 — |
79.6 — |
Nm<§. I I A ) A | 7 I I A A A | 7 I I I ) N | 7 I A 7 A I I I I |

-100 0] 100 200 300 400

Time (min)



Collect=1

LWIR T_clpo (K)
P}

1992 ‘
79.90 .
88 . . . ... ]

] 50 100 130
Scon
Collect=4
7998 .

< 7996 1

F O

3 ) .

L o 1
79.90 - .
7988( L A

] %0 100 130
Scon
Collect=7
800 T T
79.98 - .
< 7996 :

g I

g 74 .

§ 002 o 1
79.90 - .
7988( L A

] %0 100 130
Scon

Collect=2

LWIR T_cfpo (K)
P
LWIR T_cfpo (K)

79.90
79.88! . . ]
[} 100 130
Scon
Collect=5
7998/
< 79.96]
g !
3
ma.e»H
7990
79.88( - L
[} 100 130
Scon
Collect=8
80.00[ —
7998/
< 79.96]
-4 I
3 Lo
3 nal
ma.e»H
7990
79.88! . . ,
[} 100 130
Scon

LWIR T_cfpo (K)

LWIR T_cfpo (K)

79.92

Collect=3

100

Collect=6

130

130

100

130



80.00]
79.98
T 7996
g8
G 79.94 18
3 a
= i
2 7992/
79.90
79.88(

Collect=10

LWIR T_cfpa vs Scan

Collect=11
79.98 1
< 7996 ]
2 i
G 79.94 1
3 i
o i
2 792/ ]
79.90 1
7988[ : , ,
[} 50 100 130
Scon

LWIR T_clpo (K)

=20[

Collect=12




VisNIR T_fpa (K)
%

LWIR T_cfpa (K)

232.28

232.26
232.24
232.22
232.20

232.18
232.16

80.00
79.98

79.96
79.94
79.92

79.90
79.88

T_cpfa vs Scan: Collect=1

VisNIR

0

50 100
Scan

LWIR

150

o

50 100

Scan

150

SMWIR T_cfpa (K)

80.06
80.04

80.02

80.00

79,98

79.96
79.94

SMWIR

0

50

Scan

100

150



VisNIR T_fpa (K)

LWIR T_cfpa (K)

T_cpfa vs Scan: Collect=2

SMWIR

VisNIR
232.280 ] 80.06 [
232.26 - S _.80.04;
i ] < i
232.24 - . o 80.02|
232 .22 e S - _m 80.00 &
[ ] o [
232.20 - . S 79.98
i i s i
232.18 . ? 7996
232160 . ] 79.94 |
0 50 100 150 0
Scan
LWIR
80.00( — ]
79.98 - |
79.96 - |
79.94 % .
79.92 .
79.90 | .
79.88 ! L L ]
0 50 100 150

50

Scan

100

150



VisNIR T_fpa (K)

LWIR T_cfpa (K)

T_cpfa vs Scan: Collect=3

SMWIR

VisNIR
232.28] R ‘ 80.06
232.26 - 1 _. 8004
i ] < i
232.24 - . o 80.02 "
L J :nlu. L
b ] (3} b
232.22 . 1 80.00
I ] o I
232,20 - . S 79.98
i ] > i
232,18 S 79.96 -
232161 79.94
0 50 100 150 0
Scan
LWIR
80.00 [ R ‘
79.98 - ]
79.96 - ]
79.94 & .
79.92 1 .
79.90 - ]
79.881
0 50 100 150

50

Scan

100

150



VisNIR T_fpa (K)

LWIR T_cfpa (K)

232.28

232.26

232.24

232.22

232.20

232.18
232.16

80.00
79.98

79.96
79.94
79.92

79.90
79.88

T_cpfa vs Scan: Collect=4

VisNIR

0

50

Scan

LWIR

100

150

o

50

Scan

100

150

SMWIR T_cfpa (K)

80.06
80.04

80.02
80.00
79,98

79.96
79.94

SMWIR

0

50 100

Scan

150



VisNIR T_fpa (K)

LWIR T_cfpa (K)

232.28

232.26

232.24

232.22

232.20

232.18
232.16

80.00
79.98

79.96

79.94

79.92

79.90
79.88

T_cpfa vs Scan: Collect=5

VisNIR

0

50

Scan

LWIR

100

150

o

50

Scan

100

150

SMWIR T_cfpa (K)

80.06
80.04

80.02
80.00
79,98

79.96
79.94

SMWIR

0

50 100

Scan

150



VisNIR T_fpa (K)

LWIR T_cfpa (K)

T_cpfa vs Scan: Collect=6

SMWIR

VisNIR
232.28] e ] 80.06
232.26 - . __80.04
[ ] = i
232.24 | . o 80.02
L i .m. L
232.22 1+ 3 80.00¢
i ] o i
232.20 . s 79.98
i 1 S i
232.18 . ? 7996
232,16 L A 79.94 "
0 50 100 150 0
Scan
LWIR
80.00| — ]
79.98 - |
79.96 - |
79.94 .
79.92 .
79.90 - .
79.88( , . =
0 50 100 150

50

Scan

100

150



VisNIR T_fpa (K)

LWIR T_cfpa (K)

232.28

232.26

232.24

232.22

232.20

232.18
232.16

80.00
79.98

79.96

79.94

79.92

79.90
79.88

T_cpfa vs Scan: Collect=7

VisNIR

0

50

Scan

LWIR

100

150

o

50

Scan

100

150

SMWIR T_cfpa (K)

80.06
80.04

80.02

80.00 -

79,98

79.96
79.94

SMWIR

0

50 100

Scan

150



VisNIR T_fpa (K)

T_cpfa vs Scan: Collect=8

LWIR T_cfpa (K)

VisNIR SMWIR
232280 "~ T ] 80,06 T T ]
232.26 - - __80.04 .
i ] < i 1
232.24 - - o 80.02- .
L i .m. L i
i ) S i )
. e S N S
232 22 10— 1 o 80.00* i
I ] o I ]
232.20 - . S 79.98" .
i ] > i ]
232181 . 79.96 - ]
232160 . ] 79940 . ]
0 50 100 150 0 50 100 150
Scan Scan
LWIR
80.00 [ — ]
79.98 | .
79.96 | .
79.94 % -
79.92 .
79.90 .
79880 . . . ]
0 50 100 150

Scan



VisNIR T_fpa (K)

T_cpfa vs Scan: Collect=9

LWIR T_cfpa (K)

VisNIR SMWIR
232.28] T H 80.06 | - ]
232.26 - . __80.04 -
i ] X i ]
232.24 - ., o 80.02- ]
L | cm. L |
232.228 1+ 1 80.00¢ :
I ] @ I ]
232.20| ] = 79.98" ]
i ] s i ]
232.18 - ] ? 79.96- .
232160 . . . 79940
0 50 100 150 0 50 100 150
Scan Scan
LWIR
80.00 T ]
79.98 .
79.96 .
79.94 GesR GRS .
79.92 .
79.90 - .
79880 . . . . ]
0 50 100 150



VisNIR T_fpa (K)

LWIR T_cfpa (K)

T_cpfa vs Scan: Collect=10

VisNIR SMWIR
232280 T T T 8006 T ]
232.26 - - __80.04 -
i ] X i ]
232.24 1 o 80.02 ]
L | :m. L |
l | Q M..”..,.,, \w
R I ———— ] 9 80.00¢ |
i ] o i ]
232.20 ] = 79.98 ]
i ] > i ]
232181 . 79.96 - ]
232160 . . 79941 .
0 50 100 150 0 50 100 150
Scan Scan
LWIR
80.00 —— 1
79.98 | .
79.96 .
7'9.9 4 MM |
79.92 .
79.90 - .
79880 . .
0 50 100 150

Scan



VisNIR T_fpa (K)

LWIR T_cfpa (K)

232.28

232.26

232.24

232.22

232.20

232.18
232.16

80.00
79.98

79.96

79.94

79.92

79.90
79.88

T_cpfa vs

VisNIR

0

50 100

Scan

LWIR

U
o

o

50 100

Scan

150

SMWIR T_cfpa (K)

80.06
80.04

80.02

80.00 ¢

79,98

79.96
79.94

Scan: Collect=11

SMWIR

0

50

Scan

100

150



T_cpfa vs Scan: Collect=12

VisNIR SMWIR
250F T T T R 100 [ T
200 - . __ 80 -
< m ] < i
~ 150 N 60 o
& : m a H
— L ] 3] L
— 100 ] I 40| 5
a4 i : @ I
4 50 7 = 20 p
> i : & i
Oor ] Or 5
500 . . 200 . . . .. |
0 50 100 150 0 50 100 150
Scan Scan
LWIR
80 ,
— OO\\ _
X i
S 40- -
,.m“ I
— B |
w 20
= I
-
0- B
|No\ . . . . | . . . . | L . . .
0 50 100 150

Scan



VisNIR T_asp (K)

276

275

274

273

VisNIR T_asp vs Scan and Collect

500

1000
Collect*scan

1500



(uiw) swny

00L-

00l

00Z

00g¢

00V

VisNIR T_asp (K)

N N N N N
~N N ~N ~N ~N
N N i wm (0)]
7\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\7
- e ~
L T ]
i S i
i ® ]
"
- % il
i [ i
7\\\\\\\\\ A I I N A O I N I A \\\\\\\\\7

awil] sA dso~| YINSIA



272.7

274,10

27405

274.00

VisNIR T_osp (K)

27395

273.90

274 A5

Collect=1

o 30 100 130

Collect=4

°
g
§ L
g

273.30

27325

27315

VisNIR T_osp (K)
3
S

27310

27305

274,25

274,20

27415

VisNIR T_osp (K)

274,10

27405
o

274,52
274.50

W 27448

.w 27446

Collect=2

g

g

g

273.85

27380

273,75

VisNIR T_osp (K)

273.70

273.65

274,55

274,58

27456
° 27454
m. 274,52
-

M 274,50

274 48

274 46

274 A4

Collect=3

g

g



274,64

274,62

274,60

27458

3
>
8

VisNIR T_osp (K)

274.54

274,52

274,50

Collect=10

VisNIR

T_asp vs Scan

Collect=11

VisNIR T_osp (K)

Collect=12

—_




UDJS#}29]109)

00S

000l

00S1

0002

yx4

SMWIR T_asp (K)

N
~N
(S]]

¢Le
L2

GLe

\

109]|0) puD updS SA dso—| YIMWS



(uiw) swny

00L-

00l

00Z

00g¢

00V

SMWIR T_asp (K)

N N N N N
N ~N ~N ~ N
— N N » &)
T T T T 1T 7T 177 \\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\
B T N
L L ]
L ‘ |
L ‘ |
i ® ,
I [ j
7\\\\\\\\\ I O I I O \\\\\\\\\7

swi] sA dso—| YIMNS



272.31

275.60[

27355

SMWIR T_osp (K)

27345

27340

274.00]

27395

SMWR T_asp (K)
S
&

27385

27380

27350/,

Collect=1

Scon

100

130

Collect=4

130

130

272.85(

272.80

SMWIR T_osp (K)

272,65

272.60(

275.73[

273,70

275.65

SMWIR T_osp (K)

273.60

273550

274,06
274,04

274021
g 274001
.w 27398
m 27396

27394
27392

27390¢

272.75

272,70}

Collect=2

Collect=5

130

130

27340]

Collect=3

130

273861
27384

27382

s 3
oo
3 8

SMWIR T_osp (K)

27376

273741

273,721

130

274127

274101
o 27408
k3 L
274,06

274,04 §

SMWIR T_osp (

27402

274,00

273981

0

130



Collect=10

274,18

27416

- 274,14
3

-~

m 27412
-

1 S L S B R S

m 27410 O\

27408

27406

27404

AONYM A L08R
174, O<\.....r«>/<\ AYAXX
SOORN AN\ A\

(]

SMWIR

T_asp vs Scan

Collect=11

274.22

274.20
27418
3

-~

m 27416
-

m 274,14

27412

27410

274,08

(]

SMWIR T_osp (K)

Collect=12

—_




LWIR T_asp (K)

272

271

269

LWIR T_asp vs Scan and Collect

500

1000
Collect*scan

1500



(uiw) swny

00L-

00l

00Z

00g¢

00V

LWIR T_aosp (K)

N N N N N
(0] (0] ~N ~N ~N
0o (o) (@) - N
7\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\ \\\\\\\\\7
N e ~
L W ]
i S i
i oY ]
"
- ¢ il
i > i
7\\\\\\\\\ A I I N A O I N I A \\\\\\\\\7

awil] sA dso—| yIm1



268.857

270.10[

27045

LWIR T_osp (K)
3
&

27025

Collect=1

Collect=4

130

LWIR T_osp (K)

27020/
2703
270.10|
270,08

27000

Collect=2

Collect=5

269.85

Collect=3

130

Collect=6
27035 T
270,30 B
27015 I | ,
(] - 100 130
Scon
Collect=9
27056 [ T
270,34 - B
W 27052 - B
m. [ O OO KNE>RIOD
27050 O O O MOOBOOIMCBEOIOOO e
m MDENDEENGEEEO-O-QOROO O
= 27048 - ]
27046 - B
27044 I | .
(] - 100 130



Collect=10

LWIR T_asp vs Scan

Collect=11

270.70(

LWR T_osp (K)

Collect=12




LWIR T_asp (K)

T_asp vs Scan: Collect=1
VisNIR
272.7 — 272.3f
1 < en2
~ g
(2] C
O_ N
= 2721
m g
: i
3 & 272.0%
272.3 o - ] 2719
0 50 100 150 0
Scan
LWIR
268.85 —
268.80 ]
: i
‘ e
Mmm.ﬂww LwIT#_,‘_._j ]
- B E
268.70 | %%%
[ HH
268.65 [ -ttt ]
fum.g
268.60 .
268.55 o o ]
0 50 100 150

Scan

50

Scan

100

150



VisNIR T_asp (K)

LWIR T_asp (K)

T_asp

VisNIR

vs Scan: Collect=2

273.30

273.25

273.20

273.15

273.10

273.05

272.85

272.80

272.75

272.70

SMWIR T_asp (K)
“‘\““\\\\\\\\\\

272,65

272600 . . . . . . .

0

0 50 100

(oL
o

269.35

269.30
269.25
269.20

269.15 -

269.10

0

150



VisNIR T_asp (K)

LWIR T_asp (K)

T_asp vs

273.85

273.80

273.75 ¢

273.70

273.65

VisNIR

50

150

269.85

269.80

269.75

269.70

269.65

5

0

50

150

SMWIR T_asp (K)

Scan: Collect=3

273.40

273.35

273.30

273.257

273.20

0

Scan



VisNIR T_asp (K)

LWIR T_asp (K)

274,10

274,05

274.00

273.95

273.90

270.10

270.05

270.00

269.95

269.90

T_asp vs Scan:
VisNIR

SMWIR T_asp (K)

50

AW, NAYA
ARERSOA NN

Collect=4

273.60]

273.55

273.30 i%

273.45

273.40

50



VisNIR T_asp (K)

LWIR T_asp (K)

T_asp vs

274.25

274.20

27415

27410

274.05

VisNIR

0

50 100

Scan

U
o

270.20

270,15

270.10

270.05

270.00

LWIR

0

50 100

Scan

150

SMWIR T_asp (K)

SMWIR
273.75( I ‘
273.70 .
273.65 :
273.60 .
273.55( . L ‘

0 50 100
Scan

Scan: Collect=5

150



VisNIR

T_asp vs

274.35

274.30 -

274,25

VisNIR T_asp (K)

274.20

0

270.35

270.30

270.25

LWIR T_asp (K)

270.20

270.15

\\\\\\\\

0

50

Scan:

g

| Q

] (/)]

| (o)

|

1 -

1 o

. =

E =>

| (7p]
150
150

Collect=6

273.86
273.84

273.82
273.80

273,78 porommmmonss< X X

273.76

273.74
273.72

o



VisNIR T_asp (K)

LWIR T_asp (K)

274.45

274.40

274,35

274.30

270.45

270,40

270.35

270.30

270.25

T_asp vs

VisNIR

50 100

Scan

LWIR

0

50 100

Scan

150

SMWIR T_asp (K)

Scan: Collect=7

SMWIR
274.00[ B ‘
273.95 - ]
273.90 - |
273.85- .
273.80. L L ‘

0 50 100
Scan

150



VisNIR T_asp (K)

LWIR T_asp (K)

274,52
274,50

274,48
274.46

270.50
270.48

270,46
270,44
270,42
270.40

270.38
270.36

T_asp vs

Scan: Collect=8

VisNIR

X

274.06
274.04

274.02
274.00

273.96
273.94

273,92
273.90

SMWIR T_asp (K)

273.08 K i Nosmaem B X

SMWIR

150 0

\\\‘\\\‘\\\‘*

0

50 100
Scan

150

50

100
Scan

150



VisNIR T_asp (K)

LWIR T_asp (K)

Scan:

T_asp vs
VisNIR

27458 B ]
274.56 - ]
274.54 - ]
274,52 - LS00 0D Mann
274,50 B SBm0RL) O %005 ]
274.48 - .
274,46 - ]
274.44 L L ]

0 50 100 150

Scan
LWIR

270.56 | — ]
270.54 - ]
270.52 - .

i < OO GBRRO COHOOBD i
270.50 - O @ O ooo@gO@vO@ggO@@ -

FEDCEREDLIN0 O AOWDO O O 1
Nuo.&w .
270.46 - .
270.44 L L =

0 50 100 150

Scan

SMWIR T_asp (K)

Collect=9

274,12
274,10

274,08
274,06

O D

@O@@@&@OOOOQ@O @ AvAv ]

SMWIR

274,04 gi@@@ﬁv@ &>

274.02

274,00
273.98

<

0

50

Scan

100

150



VisNIR T_asp (K)

LWIR T_asp (K)

T_asp vs Scan: Collect=10

274.64
274,62

274,60
274,58
274,56
274.54

274,52
274,50

A AA

2\WANA''\ VAVAWAN

VisNIR

AAA

AA

JA'SY/\VAN

AVISSAS DSV SN SN AN

A

0

50

Scan

100

(oL
o

270.60
270.58

270.56

PN

I L =
i >

270.54
270.52

270.50
270.48

LWIR

0

150

SMWIR T_asp (K)

27418
274,16

274,14
274,12
274,10
274.08

274,06
274,04

SMWIR

o

150



VisNIR T_asp (K)

LWIR T_asp (K)

T_asp vs Scan: Collect=11

VisNIR SMWIR
274,66 | A H 274,22 A H
274,64 - 274,20 - .
274.62 - 1 X 274.18" ]
r L] ] Q r i
NNA(@O D\HQEHE _-_____________________________________________ﬁ____%___ﬁ_____ﬂﬁ__% ] % Nﬂbidm\\ ]
I OO O oo . T_ H .
27458 - ] ¢ 27414 mmmnmmmm 0 0 O O ]
274.56 - . w 27412 .
27454 . 274,10 - .
274520 . ] 274080 . . ]
0 50 100 150 0 50 100 150
Scan Scan
LWIR
270.70 [ — ]
270.65 - |
270.60 - |
I ]
27055 - .
270500 . . . ]
0 50 100 150



250

150
100
30

VisNIR T_asp (K)

=50t

250

LWIR T_aosp (K)

T_asp vs Scan: Collect=12

VisNIR
: -
50 100 150
Scan
LWIR
: R
50 100 150

Scan

SMWIR T_asp (K)

SMWIR

3007
250 -
200
150 -
100

50 -
-50¢

50

Scan

100

150



T_omm (K)

237.0

236.8

236.6

236.2

236.0

235.8

T_omm vs Scan and Collect

500 1000
Collect*scan

1500

2000



T_omm (K)

T_omm vs Time

237.0[

236.8 —

236.6 —

236.4 —

236.2 —

236.0 —

: géd

100
Time (min)

400



T_-omm (K)

T_omm (K)

T_omm (K)

23645

25640/

g +ﬁﬁﬁ....¢ +

Collect=1

-+ iy +++%....TI.nﬂur pan e
b ++ My
238,30 - oo+ .
236.25 s j
[ %0 100 130
Scon
Collecl=4
236,40 —————
236,55 y
256.30 ¢ 4
23625 4
[ 50 100 130
Scon
Collect=7
236407 ————
236,35 .
236,30 - .
236.25. .
[ 50 100 130

23640

23643[
236,40
= »u?ﬂw
.w n.ua..aeH
236.25

236.20(

23645

T_omm vs Scan

Collect=2

100

Collect=5

100

236,40

23640

23645

Collect=3

130

130

130



Collect=10

236A45]

236A45]

T_omm vs Scan

Collect=11

T_omm (K)

Collect=12

150

|ucH




